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INSTRUCTIONS

IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT
THIS TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS,
ETC. IF 80, GET IT REPLACED BY A COMPLETE TEST BOOKLET.

Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series Code A, B, C or D carefully and without any omission or discrepancy at the
appropriate places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer
Sheet liable for rejection.

You have to enter your Roll Number on the

Test Booklet in the Box provided alongside.

DO NOT write anything else on the Test Booklet.

This Test Bocklet contains 120 items (questions). Each item is printed both in Hindi and English.
Each item comprises four responses (answers). You will select the response which you want to mark
on the Answer Sheet. In case you feel that there is more than one correct response, mark the
respense which you consider the best. In any case, choose ONLY ONE response for each item.

You have to mark all your responses ONLY on the separate Answer Sheet provided. See directions
in the Answer Sheet.

All items carry equal marks.

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your
Admission Certificate.

. After you have completed filling in all your responses on the Answer Sheet and the examination has

concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to
take away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY A CANDIDATE IN THE
OBJECTIVE TYPE QUESTION PAPERS.

6] There are four alternatives for the answer to every question. For each question for which a wrong answer

has been given by the candidate, ome-third (0-83) of the marks assigned to that question will be
deducted as penalty.

(ii)  If a candidate gives more than one answer, it will be treated as a wrong answer even if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(iii) I a question is left blank, i.e., no answer is given by the candidate, there will be no penalty for that
question, :

‘DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO
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Every quadratic equation ax® + bx + ¢ = 0 | 5.
where a,b,ce R,a=0 has
(a) exactly one real root.
(b) atleast one real root.
(¢} atleast two real roots.
(d) at most two real roots.
The relation S is defined on the set of integers | 6.
Z as xSy if integer x divides integer y. Then
(a) Sis an equivalence relation.
(b) Sis only reflexive and symmetric.
(¢ Sis only reflexive and transitive.
(d) Sisonly symmetric and transitive.
If a # b # ¢ are all positive, then the value of
a b ¢ ",
the determinant |b ¢ alis
¢c a b

(a) non-negative
(b) non-positive
() negative
(d) positive
Let A and B be two matrices such that AB=A
and BA=B. Which of the following
statements are correct ?
1. A=A
2. B2=B

9 8.
3. (AB)Y"=AB
Select the correct answer using the code given
below :
(a) 1and2only
(b) 2and3only
(¢ 1land3only
d 1,2and3

B-OEBB-N-NBS (2-A)

What is (1001), equal to ?
(@) (Bl
b 9y
) (A7,
S a8TeT

@ a1y

NG
What is [g 'H) equal to, where i = J’—_l ?
-
(a) 1
®) 1/6
(e} 6
d 2

Let z be a complex number such that [z| = 4

and argz= %.Whatiszequa]to?

(a) 2V3+2i
() 2/3-2
(© —2J3+2
@ ~V3+i

where i = J-——l

66 -3 1

If|4 3i —1|=x+iy wherei= -1,
20 3 i

then what is x equal to ?

(a)

by 2

© 1

d o
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mﬁqﬁmax2+bx+c=03ﬁ
a,b,ceR,a;tOﬁ

(a) JIUTHY UH ARKIIF T T B |

(b) HHB-FH TH TEATIH T5 w1 R |

(¢) FHA-FH QY ARA(F g B 8 |

@) fereA-afus 3 arafes g@ g § |
qUisl % =G Z W, §EY S, xSy % &9 A

gfonfyg & af quis x, quifs y = fnfe
A 2 | a9

(a) S qoudr @&y ¥ |

(b) S %Fad Tagey A Tnfia 2 |

(©) SFad Wqed N THIEF & |

(d) S%aa gufid AR TFHE B |
'ﬂﬁa:&bicmﬂm‘g,ﬁﬂﬂﬁﬁ

a b ¢
b ¢ a|FHEAAR

¢ a b

{a) G

(b) AW

(c) RUMcHh

(d)y ¥HTHS

o difm A 3t B € 2eyg 3@ wwR & f6
AB = A 3T BA = B § | F=ferfae ==t §
AR A TR E?

1. A?=A

2. B’:=B

3. (ABY=AB

A= fee T g w1 oA W ES W F
Hifsm .

(a) “had 1 3 2

(b) wad 2 3 3

(c) wad 133
(@ 1,23M3

(3-A)

(1001),, foraeh TTT 2 7

@ (B
(b) (P
(€@ (174
(d} (1)

[‘/E”Tﬁm%w% i 22
s ,\_ﬂ_&'Tz=J—_1 ?

(a) 1
b 1/6
{c 6
d 2

a1 i 2 o T i wem 2 76 (2] =4
ﬁ?argz:% %I Z%H%W%?

(@ 243 +9

b 2J3-2

() -2J3+2

(d) -v3+i

WEi= -1
6 -8 1

T |4 3 -1 =x+iy, & i= /-1,
20 3 i |

o x fopass sTat R 2

(a) 3

by 2

& 1

(d o
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9. If a, # are the roots of ax> +bx +¢c =0 and
a+h, f+h are the roots of px2+qx+r=0,
then what is h equal to ?

2a p
) 1(_b, E)
2\ a p
p
{c) 17k, 3_]
2\p a
{
(d) 1f b + g]
2\ p a
10. If the matrix A is such that
1 3 1 1
A= , then what is A equal
0 1 0 -
to ?
(1 4
(a)
0 -1
1 4
(b)
0 1
-1 4
(c)
L 0 -1
1 —4
(d
o -1
11, Consider the following statements :
1, Determinant is a square matrix.
2. Determinant is a number associated
with a square matrix.
Which of the above statements is/are correct ?
(a) 1lonly
(b} 2only
(¢} Bothland2
. (d) Neither 1 nor2
B-OEBB-N-NBS

(4-

12,

13.

14.

15.

A)

If A is an invertible matrix, then what is
det (A Y) equal to ?

(a) detA

1
®) det A
© 1

(d) None of the above

From the matrix equation AB = AC, where
A, B, C are the square matrices of same order,

we can conclude B = C provided
(a) Aisnon-singular.

(b) Ais singular.

(¢) Ais symmetric.

(d} Aisskew symmetrie.

4 x+2
If A= is symmetric, then
2x -3 x+1
what is x equal to ?
(a}) 2
(b) 3
€ -1
(d b5
a b 0
If |0 a b| =0, then which one of the
b 0 a
following is correct ?

(a) % is one of the cube roots of unity.

(b) % is one of the cube roots of -1,

(©)  ais one of the cube roots of unity.

(d) b is one of the cube roots of unity.

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



FREE Educ.mon

9.

10.

11.

. B-OEBB-N-NBS

A ax’+bx+c=0 ¥ U o B & N

px2+qx+r=035’-=@a+h,ﬂ+h§,?ﬁh
Foraes e 8 7

1{b gq
(a) Z[a p]

(b)

B |
|
| o
+
[
—

(0

DN | -
|
+
=]

S

Gy

[
-
|
|z
+
[
S

1 4
{(a)

1 4
(b) ]

) -1 4
(¢} J

L0 -1

(1 -4
d)
0 -1

ﬁmﬁiﬁawﬁmﬁaﬂﬁﬁm:

1. ARfor o i g R |

2. @R ot sy @ Tl o TEm § |
sqgﬁmﬁﬁﬁﬂquév&‘fﬁlﬁo

(8) Hae 1

(b) FadA 2

(¢) 13N 2aF

@ Td13hade

12,

13.

14.

15,

(5-A)

e A T yoERoia IIegg , A det (A7)
foraeh st ? 2

(a) detA

1
®) det A

¢ 1

@) I B | FE A

=g @i AB = AC ®, W&l A, B, C §9N
R & ot arg §, 7 7 Frend P v

2 B=-C,am %

@) ASIHAoNa § |
(b) A 3rgseavia R |
(@ ATARW Y |

@ Afawmunfimd

A A - [ 4 X+ 2
2x - 3

foras sumt & 2

(a) 2

by 3

ey -1

d 5

]mﬁa%,a‘_tx

x+1

a b 0
ARk 10 a b|l=o0 @ frafifags & @

b 0 a
I O TR 7

@ = @(Wﬁ)%ﬂ'—!ﬁgﬁﬁ@rt{a;%|

(b) %,_-1%@@1&%@%

(©) a T (3T%) HaTeli H A TH B |
@ bTF (FFE)FTHAAATH |
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16. The function f : N — N, N being the set of
natural numbers, defined by fix)=2x+3 is

(a) injective and surjective
(b) injective but not surjective
(c) not injective but surjective

(d) neither injective nor surjective

(1 + i)4n +5
(1 _ i)4ll +3

natural number and i = ,I— 17?

17. What is equal to, where n is a

(a 2
b) 2
() -2
d i

18. What is the number of ways in which one can
post 5 letters in 7 letter boxes ?

@ 7°
o 3P
@ &
(d 2520

20. A and B are two sets having 3 elements in
common, If n(A) = 5, n{B) = 4, then what i3

n(A x B} equal to ?
a8) 0
(b)) 9
(e 16
@ 20

21, Ifflx) = ax + b and g(x) = ¢cx + d such that
flg(x)) = g(f{x)), then which one of the
following is correct ?

(a) flc)=gla)
(b) fla)=glc)
(@ flo) =g(d)
d fd)=gh)

22, If A and B are square matrices of second order
such that |A| = -1, |B| = 3, then what is
|3AB| equal to ?

(a) 3

by -9

(e} =27

(d) None of the above

For the next three (03) items that follow :

. . x-1
19. What is the number of ways that a cricket | Consider the function flx)= T+l
team of 11 players can be made out of
15 pl ?
5 players 23. Whatis gxi * 1 +X equalto ?
(a) 364 X '
(@ 0
() 1001 :
b 1
{c) 1365 © 2x
(d) 32760 @ 4x
B-OEBB-N-NBS (6-A) )

Educational Material Downloaded from http://www.evidyarthi.in/
Get CBSE Notes, Video Tutorials, Test Papers & Sample Papers



& eVidyarthi
FREE Education

16, %R f: N o> N I, 9&f N 99 i %1 20. A 3R B & ag=g § fimd 3 sawe wfrs
ugET B, fx) = 2x + 3 © wfoni¥a feem mn £ 1 3R n(A) = 5, n(B) = 4, @ n(A x B) Tre®
2, 0t 98 T B 2
(@) T iR aTreer R @ 0
(b)) 9
(b) uHl § foreg oot T ] © 15
(© THh T e aTreerdt & @ 20
(d) = Tl g I A A e §
21, MAx)=ax+b3Mgx)=cx + d 3 &R &
& flgx) = gftx), T Fefeifes § @ s
A+*RrE s 3 R
17 s T &, TR on TP W @ fo) = gla)
s g afti= [C12%0 (b) fla) = g(c)
(a) 2 () floy=gl(d)
(b) 2 @ fd) = gb)
() -2
_ 22. M A B Fe & W ol srg € 5
@ i [A] =—1, |B| =3, |3AB| fra® et 2 2
(a) 3
18. 7 w7 5 =i A wE fFad 701 T T by -9
T & ? © -27
@ 7 @ I9gE A ¥ N T
 3°
© 5 ATt A AT A (03) TR & e
@ 2520 Wﬂx)=i:i R =R 1R |
19. 15 fgenfeat & @ 11 faenfet & fFae S £(x)+1 - ‘
fore afienl @ 998 T awdt 2 7 23. F -1 R ?
(a) 364 @ 0
M 1001 (b) 1
(©) 1365 @ 2x
(d) 32760 () 4x
B-OEBB-N-NBS (7=A)

£
i
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24,

25.

What is f{2x) equal to ?
f(ix)+1
@ o3
fix)+1
(b 3f(x)+1
3fx)+1
© Twes
fx)+3
) 3fx)+1
What is fifix)) equal to ?
{(a) =x
b -x
(b - 1
X
(d) None of the above

For the next five (05) items that follow :

15
Consider the expansion [xz + l] .

X

26. What is the independent term in the given
expansion ?
(ay 2103
(b) 3003
(c) 4503
(d) None of the above
27. What is the ratio of coefficient of x'° to the
term independent of x in the given
expansion ?
(a) 1
(b) 1/2
) 2/3
(d 3/4
B-OEBB-N-NBS

(8-

28.

29.

30.

A)

Consider the following statements :

1. There are 15 terms
expansion.

in the given

2. The coefficient of x1% is equal to that of

x>,

Which of the above statements is/are correct ?

(a) 1lonly

{(b) 2only
(¢) Bothland2
(d) Neither 1nor2

Consider the following statements :

1.  The term containing x? does not exist in

the given expansion.

2. The sum of the coefficients of all the

terms in the given expansion is 15,

Which of the above statements is/are correct 7

(a) 1lonly

(b) 2Zonly
{¢¢ Bothland?2

{d)" Neither 1 nor 2

What is the sum of the coefficients of the
middle terms in the given expansion ?

(a) C(15,9)
{b) C(16, 9}
() C(18,8)
(d) None of the above

ius
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24, f(2x) fru® U 2

!

@ f(x)+1
f(x)+3
fx)+1
®) 3f(+1
3f(x)+1
© T3
@ f(x)+3
3fx)+1

25. fiftx)) foraes g 2 2

@ I A 98 T

3t 3 &T i (05) XTI % v

26.

27.

B-OEBB-N-NBS

(x +%]15 %m{mﬁaﬂﬁﬁml

e R d @ar e wr R 2
(a) 2103
(b) 3003
(¢) 4503

@ 3I9gw & q B A&

féu mu foream & x1° % T T x A T w2 R
I 1R ?
(a 1

Y,
© 2/3
(d 3/4

(9-

28.

29,

30,

A)

frfafiga we w famm i

1. Rgmfewmd 159 |

2. x'2 %I T =3 % 0T F T B |
I0YH FYA § A BRI TR A 2

(@) a1

(b ¥ 2

(¢ 13K 2210
(@ Ta13kade

faafafan wemt v fa=m i .

1. fewu famm 8 x2 9 e w1 Afee T
21

2. fou mu fomam & oft w&@ & o W=
T 2% 7 )

39w ST H ¥ A wd 8 0

(a) Hae 1

(b) Ha 2

@ 1323

@ JIa1sadz

f&‘z‘mﬁﬁmﬁm‘iﬁ%yﬁﬁaﬂzﬁ’m
framg 0

(a)
(b)
(c)

C€(15, 9)
C(16, 9)
C(18, 8)

@) S I @ B T
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81. Whatis \/1+sin 26 equalto? 85.
'g (a) cosB@-sind
(b) cosB+sin®d
(¢) 2cos®+sind
(d) cos6+2sin6
|
32. A lamp post stands on a horizontal plane.
From a point situated at a distance 150 m
from its foot, the angle of elevation of the top
is 30°, What is the height of the lamp post ? 36.
(a) 50m
 ® 50V3m
50
€ —m
V3
(d) 100m
‘ 317.
83. Ifcot A=2 and cot B = 3, then what is the
valueof A+ B?
(@) /6
(b) =
© 2
d) n/4
_ 38.
34, What is sin? 66—12— ~ gin? 23% equal to?
(a) sin47°
(b) cos 47°
{(c 2sin47°
(d) 2cos47
B-OEBB-N-NBS ({10-A}

What is sin” 1 g+ sin~ 1‘% édual to? F
(8) nf2
(b nf3
() nf4
w6
W e ?
(a) tanx o
(b) cotx
(¢) tan2x
(d) cot2x

In a triangle ABC, ¢ = 2, A = 45°, a = 242,

" then what is C equal to ? -
(a} 30°
by 156°
(c} 45°
(d) None of the above

In a triangle ABC, sin A —cos B = cos C, then
what is B equal to ? '

@ 7
® a3
© /2
@ /4
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31.| (T+sm20 forue sTsR e ?

{(a) cos9—sinBd
(b) cos9+sind
., (&) 2cosB+sin®

(d) cosb+2siné

32. =<t ® % @W TF AR Had W Eer § |

IaH UK ¥ 150 m G W fUa o forg @ 3%
o w1 S 0 30° 7 | it & @Y i S
FME?

(a) 50m

(b) 503 m

© %’m

(@ 100m

83, A cot A=23MW cot B =3,A A+ BH AA

E?
(a) nle
(b) =

| © w2
@ nf4

34, s'mZGG% -sin223% foreh wUa 2 7

(a) sin47°
(b) coz47°
(c) 28147

(d 2cos47°

B-OEBB-N-NBS (11-A)

35.

38.

37.

38.

sin_1%+sin'1% frud qust 2 2

(8) nf2
) /3
() n/4
@ /6
008 7X — 08 3X frad T 2 2
sin 7x — 28in 5x + gin 3x. |
(a) tanx
(b) cotx
{c) tan2x
(d) cot2x

wF O ABC ®, c=2,A=45°2=22 ¥,

@ C Foress |mat 2 ?
(a) 30°
(b) 15°

(¢) 45°

@) 39§ A Y T

T B9 ABC #, sinA—cos B =

B frus sme 8 2
(@ =

() /3

© w2

@ n/4
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39. If Sﬁn Zz+y) _a+bhb , then what is tanx | 42. Which one of the following is one of the
sin(z-y) a-b tany solutions of the equation tan 20.tan8=17?
equal to ?
@ #f12
(b) /6
(a) g—
(e nf4
W o @ /3
b
() ab For the next three (03) items that follow :
Given that 18 sin®x = p sin 5% + ¢ 8in 3x + r sin x.
d 1 -

43. What is the value of p ?
40. If sin A sin (60° — A) sin (60° + A) = k sin 3A,

then what is k equal to ? @ 1
by 2
(a) 1/4
© -1
®) 1/2 @ -2
¢ 1
(dj 4 44, What is the value of q 7
(a) 3
(h} 5
| 41. The line y = V3 meets the graph y = tanx, © 10
T . . .
where x € (0, E)’ in k points. What 1s k equal @ -5
to?
{a) One 45. What is the value of r?
b Two @ 5
(c) Three by 8
. (@ 10
{(d) Infinity
d -10
B-OEBB-N-NBS {(12-A) P
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39.

41.

B-OEBB-N-NBS

(a)

f sin(x+y) a+b @,T‘ﬁ tan x e

sin(x-y) a-b tan y
U R ?

IR

(b

oW

{(c) ab

d 1

AfE sin A sin (60° — A) sin (60° + A) = k sin 3A
7, @ ko a2 7

(a) 1/4
® 1/2

© 1

& 4

kec) y=J§, EN LG ¥y = tan x ?ﬁ,\_ﬁf
xe[o,-;-J%,kﬁgaﬁqtﬁa?ﬁ%t K Fra
T 3 2

(a) T
b 7
(¢ A

(@ 3Fd

42, Treffas § @ S0 o weo
tan 20.tan6=1% A H B UF B ?

@ /12

(b) /6

() w4

@ /3
T} 3T AT 7 (03) FvTIT & ferg:
fenmn 2 &6

163in5x=psin5x+qsin3x+rsinx.

43, pHRIAA FATR ?

(a) 1
(by 2
@ -1
dy -2

4. qHITAFTE?

(a) 3
b) 5
(e 10

(d -5

45, rE AT I ?

(a b
(b) 8

0 10
d -10

(13-A)
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For the next two (02) items that follow :

Let S, denote the sum of first n terms of an AP and

3511 = SZn'

46. Whatis Sy, :8, equal to?

(a) 4:1
(b) 6:1
(e} 8:1
d 10:1

47. Whatis S5, : 8, equalto?

{a) 2:1
(by 3:1
) 4:1
d 5:1

48. What is the length of the latus rectum of the

ellipse 25%° + 16y2 =4007?

(a) 25/2
(b) 25/4
(¢ 16/5-
@ 32/5

For the next two (02) items that follow :
Consider the circles x° + y2 +2ax+¢=0 and

x2+y2+2by+c=0.

49. What is the distance between the centres of-

the two circles ?

(a) \)az +b?

(b a%+b?

() a+b

(d 2@G+Db)
B-OEBB-N-NBS

50,

51.

b2.

b3.

(14-A)

The two circles touch each other if

(@) c=qa+b?
®) %217’%2
(c) c=;1-é-+bi2
@ c-azal-bz

A(3, 4) and B(5, — 2) are two points and Pis a
point such that PA=PB. If the area of
triangle PAB is 10 square unit, what are the
coordinates of P ?

{a) (1,0)only

b)) (7,2)only

@ @,0o0r(7,2)

(d) Neither (1, 0) nor (7, 2)

What is the product of the perpendiculars

drawn from the points (+ Jaz -b2,0) upon
the line bx cos ¢+ aysin a=ab ?

@ a’

(0 b

(@ al+b?

(d a+b

Which one of the following is correct in

respect of the equations x-1 =¥ and

2x+3y=57?

(a) They represent two lines which are
parallel.

(b} They represent two lines which are
perpendicular.

{(¢) They represent two lines which are
neither parallel nor perpendicular,

(d) The first equation does not represent a
line,
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3T 3T qI T (02) FEAIH & forw:

R i S, TF TR St % 3o n el % dvred

+I gfea Far § o 3s, =S, ¥ |

46. Sg,: S, TFaF U R 2
(a) 4:1
(b) 6:1
(c) 8:1
d 10:1

47. Sy, :S,, rush swat 3 7

(2 2
(b) 3
{c) 4.
d b

L o N

60.

61.

48. ¢Ug 25x° + 16y% = 400 F T i #= | 5o,

R

(a) 25/2
(b) 25/4
(¢ 16/5
(d 325

. AT AT I g (02) FEATIT & v

'Q?ﬁ x2+y2+2ax+c=0 3ﬂ1x2+y2+2by+c=0

W faaw $ifde |
49, aﬁqﬁ%%—ﬁ%a‘\aaﬁta@w%?
@ qa?+b2

b aZ+b?
(¢ a+b
(A 2(@a+h)

B-OEBB-N-NBS

83.

(15-A)

Al 77 wHgw H et F AR

() c¢=+a’+b?

A3, 4) 3 B(s,-z)aﬁg‘éaﬂw@ﬁa
W YSR ? f6 PA-PB R | 3R By PAB =
g% 1090 IR 2, A P Adwim wn g 2

(a) Fa (1,0)

(b) Fa (7,2)

© (1,00 (7,2)

@ Ta@Q,0 MMIANT,2

fec)| bx cos @ + ay sin a = ab Wﬁ%@ﬁ
(Ja2-b%, 0) ¥ @R TR T@ T W
TS 1 3 ?

(8) a’

® b

(© a’+b?

d a+b

xly

iUt 2 Mom+sy=5%
mﬁﬁn%ﬁaaﬁﬂaﬂqmqmaﬂ%v

(@ 9T @A F el #:1@ § A auiw
g1

B IJWHI R R FIERN AT T )

© dQqEA R PERmFAENT A
TR A |

(@ wem ufiew freft W@+ Psfa &
T |
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For the next three (03) items that follow :

Consider a sphere passing through the origin and
the points (2, 1, 1), (1, 5,-4),(- 2,4, - 6).

54. What is the radius of the sphere ?
(@) V12

V) Ji4
{c) 12
(d) 14

556. What is the centre of the sphere ?
(a) (-1,2,-3)
b 1,-2,3)
() (1,2,-3)

66. Consider the following statements :

1.  The sphere passes through the point
(0, 4, 0).

2. The point (1, 1, 1) is at a distance of
5 unit from the centre of the sphere.

Which of the above statements is/are correct ?
{(a) 1lonly

() 2only

(¢} Bothland2 .

{d) Neither 1 nor 2

B-OEBB-N-NBS

For the next two (02) items that follow :

.The line joining the points (2, 1, 3) and (4, — 2, 5)

cuts the plane 2x+y-z=3.

57. Where does the line cut the plane ?
(a) (0,-4,-1)
(b) (0,-4,1)
© 1,4,0)
(d (0,41

58. What is the ratio in which the plane divides

the line ?

@ 1:1
by 2:3
() 3:4

(d) None of the above

For the next two (02) items that follow :

Consider the plane passing through the points
A(2,2,1), B3,4,2) and C(7,0,6).

59. Which one of the following points lies on the

plane ?

(@ (1,0,0)
(k) (,0,1)
(¢ (0,0,1)

(d) None of the above

160, What are the direction ratios of the normal to

the plane ?

(a <1,0,1>

b <0,,0>

@ <1,0,-1>

(d) None of the above

(16-A)
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377 3 aret @i (03) TeATI % forw: 3T R ared gt (02) eI & for:

3t (2, 1, 3) 3 (4, — 2, 5)ﬁ6ﬁsﬁarehi@r
w'ﬁﬁaﬂtﬁgaﬁ(2:1,—1),(1,5,—4),(‘“254,"6) ;ﬁ%ZX'ﬁy zZ= 3ﬁm%|

¥ B T A e | e fifv | 57. Y@, aFae S w8 wRd & 7
, (a) (0,-4,-1)
54, e fi BemFm R 2 ® -4 D
© 1,4,0
@ V12 @ 0,4,
b)) 14
© 12 58. THad, 1@ %I 5w quma & fpwnfim s 2 2
@ 14 (@ 1:1
(b 2:3
© 3:4
65. mﬁl%ﬁﬂ%" %) mﬁl}qﬁéqﬁ
(a) (-1,2,-3)
b (L-29 AT T aTet 3 (02) WvTI % fay:
fagafi A(2,2,1), B3, 4,23 C(, 0,6 g

© @,2,-3) T T THae 9 frem Fif |

@ (~1,-2,-3)

59. Fafafn gt & & a1 & waa w

56. Tr=fafas wuEl @ fem Hifvm . fRmeo
1. TS 55 (0,4, 0) R Bt ToRaT R | @ (1,0,0)
2 PR LDMEFIzasqed| o oD
@‘R’%l ) (0,0,1)
@ 9w ¥ B T
ST weEl 1§ ¥ A Tl 22 2
(a) ¥ 1 60. FHAA T APrerE F - w1 § 2
®) FaT 2 (a) <1,0,1>
m <0,1,0>
© 1323 ) <1,0,—1>
@ TAM13mId2 @ 9YE H A B A
B-OEBB-N-NBS . (17-A)
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For the next three (03) items that follow :

x2~5, x<3

Consider the function fix) =

,fx+13, x>3

61. Whatis lim f{x) equalto?

(a)
(b)
()
(d)

x—+3
2
4
5
13

62. Consider the following statements ;

1.

2.

The function is discontinuous at x = 3.

The function is not differentiable at
x=0.

Which of the above statements isfare correct 7

(a)
(b)
{c)
(d)

1 only
2 only
Both 1 and 2

Neither 1 nor 2

63. What is the differential coefficient of f{x) at

x=127

(a) 5/2

®) &

© 1/5

@ 1/10
B-OEBB-N-NBS

For the next three (03) items that follow :

The line 2y = 3x + 12 cuts the parabola 4y = 3x%.

64. Where does the line cut the parabola ?
(a) At(-2,3)only
(b) At (4, 12) only
(¢) Atboth(-2,3)and (4, 12)
(d) Neither at (- 2, 3) nor at (4, 12)

65. What is the area enclosed by the parabola and

the line ?

(a) 27 square unit
(b) 36 square unit
(¢) 48 square unit

(d) 54 square unit

66. What is the area enclosed by the parabola, the

line and the y-axis in the first quadrant ?
(a) 7 square unit

(b} 14 square unit

{c) 20 square unit

(d) 21 square unit

67. Consider the function
tan kx
fix) = X
3x+2k%, x20

x<0

What is the non-zero value of k for which the

function is continuous at x = 0 ?

(a) 1/4
by 1/2
cy 1
(dy 2

(18-A)
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3Tt T3 aret di (03) T & forg 3T} 313 qret 717 (03) TP F fo7

<2-5  x<3 T 2y = 3x + 12 WATH 4y = 3x> ! Fledt & |
B flx) = ’ w foar Hiftm |

x+13, x>3

64. 1E1, W I Fal FEA B ?
(2) HaA (-2, 3T
®) FFA 4, 12) R
(@) 2 © (2,33 (4, 12) TR
@ TR (2 NRIARTE 4, 12W

6l. lim flx) O sUELE ?
=3

(b) 4
(I
@ 13 65. I@EAT T @ gr ufeig & fohan & 2
@ 279ty
(b) 36T e
: © 48Tt gfe
62. Fafafaa wual w fo=m Hifde . @ s ofie
1. $FH x=3 W IJETT 8 |
2, FEW x=0W JaHea A& B | 66. Y9 wguiw W waew, i‘@rﬁtyamam
i o A A R w0 :m:'zjaﬁ"”;iﬁzﬁ'm%’
a
(@ e 1 ® 149t g
(b) HIA 2 @ 209 gfe
(@ 1322 @ 219 gfe
(d) I@13RTIH 2
tan kx £<0
67. BoH  fix) = x w =R
3x+2k2, xz20
63. x=12 W fix) I JFaFHA ONF F1 R ? i -
@ 52 i;:q?t;??%wéﬁ%%qkw@m
®) 5 @) 1/4
© 1/5 (b) 1/2
' (c)
@ 1/10 @ 2
B-OEBB-N-NBS (19-A)
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68. Considet the following statements : 1. What is the area of the parabola y2 = 4bx
: 2
1. The function f{x) = [x], where [.] is the bounded by its latus rectum *
greatest integer function defined on R, (@ 2bf3 square unit
is continuous at all points except at
x=0. (b) 4b2/3 square unit
2.  The function f(x) = sin|x| is continuous (¢©) b?square unit
forall xe B. 9
Which of the above statements is/are correct ? (d)  8b°/3 square unit
(a) 1lonly
72. If y=xInx + xe*, then what is the value of
b) 2onl
® i d_y atx=17?
¢/ Both 1and 2 dx
1
(d) Neither 1 nor 2 (@) te
(b) 1-e
) 1+2e

For the next two (02) items that follow : (d) None of the above

log Q1
Consider the curve x =a (cos 6 + 8 8in 8) and 73. What iz lim M equal to ?
. x—=0 X
y=a(sin 0 - 0 cos 6).
) 1
(b) lcg5 e
. dy
69. Whatis I equal to ? () log 5
() tan® @ 5
(b) cot® 5% _q
) 74. Whatis lim —~ equal to ?
{c} B8in20 x—=0
(d) cos260 (a) loge 5
(b) 10g5 e
d2y (C} 5
g = 5 ?
70. Whatis e equal to ? @ 1
(a) sec? 0
75. Whatis lim — 2ot 5t oqup g9
®) — cosec2 © n—>e 1¢4+24+3° +...0n
34 (a) 5
© = b 2
ab
) 1
(d) None of the above @ o

B-OEBB-N-NBS (20-A)
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68, Trafifya ot W famm i - 71. WEEd yP = 4bx H, SEb A ¥ UG

1. B fx) = [x], &[], B W sienid TG TR ?
F=qn QUi Bem &, x = 0% FFF adt (@) 23 afR

forgailt mEaa & | ,
(b) 4b/3a
9. FEM fix) = sin|x| T x ¢ R & A ) e
w8 | , © biatgfe
IR HAl § A PR T R ? @ sbY3tghe
(a) HaE 1 dy
72. AR y=xlnx+xe® §, AWx=1T —= & qH
(b) “had 2 y dx
. R ?
© 13 2dM
(a) 1l+e
@ Tda13MmAH 2 b Le
c) 1+2e
. @ 9§ & S T
T AT AT 7 (02) T % forg:

o log 1+ x)
aﬁx=a(cos(—)+9sinB)ﬁTy:a(sinB—GoosB) 73. }E——%——ﬁﬁﬂ%ﬁw%?
R fomm fife | M,

(b) log e
(¢) log 5
69. Y fruhwuwd? e
dx @ 5
(a) tan®
| im 21 e w2 7
(b) cot® 74. lim TR B 7
x=—0 X
(c) s8in20 @ 1o ge5
(d) cos20 & log,e
0 5
2 @ 1
70. 9V freh s d 2
de

. . 1+2+3+...4n R
(@) sec>® 75. lim z%a%imat%.

nosew 12 +224+3%2 4+ .n

b - cosec? 6

(a) 5

(C) 5903 B (b) 2

ab © 1

@ 3w @ wE T @ 0
B-OEBB-N-NBS (21-A)
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For the next three (03) items that follow :

n

Consider I = '[ —mdf——
l1+sinx
0
76. What is I equal to ?
(a) -=m
by o0
(¢) =
(dy 2n
14
77. What is I (n-x)dx equal to ?
1+sinx
0
(a) n
b) nf2
ey 0
d) 2=
T
78. What is J. - equal to ?
l+sinx
0
(a) 1
by 2
c) 4
d -2
B-OEBB-N-NBS

For the next two (02) items that follow :
Consider

J. xtan_lxdx=A(xz+1)tan_1x+Bx+C,
where C is the constant of integration.

79. What is the value of A ?

a) 1

by 1/2

© -1/2

@ 1/4

80. What is the value of B ?

{a) 1

b 1/2

© -~1/2

d 1/4

For the next two (02) items that follow :

T

Consider the integral 7 = J‘ {n (gin x) dx

0
n/2
81. Whatis In (sin x) dx equal to ?
0
(a) 41
(b) 271
) I
(d) If2
n/2

82, Whatis J‘ In (cos x) dx equal to ?

0
(a) 1f2
(by I
(e) 21
d) 41

(22-A)
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AT T3 I A (08) FINII & forg:

n

I=J. XdX @ fEm i |

1+sinXx
0

76, 1 Topeeh S 8 ?

(a) -m
(b} 0
() =
{d) 2=

71. I -0dX oy e R

1+sin x
0
(a) =
(b) /2
¢ 0
(d) 2rn

n

78. j dX _ fyod srer d 2

1+sinx
0
{fa) 1
» 2
() 4
(d -2
'B-OEBB-N-NBS

T 3 FTE @ (02) T & frg

I xtan_lxdx=A(x2+1)tan—1x+Bx+C‘T{,

¢ garRe-ara 8, faam i |
79. AHIHAFIE?
(a) 1
b 1/2
© -1/2
(d 1/4
80, BHIAH TR ?
{ay 1
by 1/2
© -1/2
(d 1/4
AT AT a1 3 (02) TEATIN & ferv:

=

oA = jln(sinx)dx R T hifsm |

0
n/2
81. In (sin x) dx TFE%® IS B ?
0
{(a) 41
by 21
c) I
@ 12
/2
82. I In (cos x) dx ToFTeh TSR B 2
0
(ay If2
o I
(c) 7 21
(@ 41

(23-A)
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For the next two (02) items that follow :

A rectangular box is to be made from a sheet of
24 inch length and 9 inch width cutting out
identical squares of side length x from the four
corners and turning up the sides.

83. What is the value of x for which the volume is

maximum ?
(a) 1linch
(b} 1-5inch
() 2inch
(d) 2-5inch

84, What is the maximum volume of the box ?
(a) 200 cubic inch
(b) 400 cubic inch
(¢) 100 cubic inch
(d) None of the above

85. What is the degree of the differential equation

3/2 2
Py _ (dy],
3|  laz?)

(a) 1
by 2
() 3
(dy 4

88. What is the solution of the equation
dy '
In| = =07
n [ dx] +x

(a) y+e*=c¢

(b) y-eT=c
(€ y+e*=¢
@ y-e*=¢

where c is an arbitrary constant.

B-OEBB-N-NBS (24 -

87. Eliminating the arbitrary constants B and C

2 (cx- 12 + B, we

in the expression v =
P y 30

get

For the next three (03) items that follow :

Let flx) = ax® + bx + ¢ such that f{1) = f-1) and
a, b, ¢ are in Arithmetic Progression.

88. What is the value of b ?

(a -1

(b) ¢

© 1

(d) Cannot be determined due to
insufficient data

89. f'(a), f'(b), f'(c) are in

(a) AP
by GP
{c¢ HP

(d)  Arithmetico-geometric progression

890. f“(a), £"(b), f(c) are
(a) inA.P.only
(b) in G.P. only
(c) inboth AP. and G.P.
{d) neitherin A.P. nor in G.P.

A)
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st 9} el 7 (02) reTen @ fore: . 81. Eiﬁy:-;a(Cx—l)w+Bﬁﬁlﬁﬁ§ﬂﬁﬁ
2439 Tt o 9 ¥ <l i A &, T A & o B ofit C %1 Tl S0} W R WiE B 2
da x % gaEw ot wEewt R qael w FW 6
W HIGH, Th AFATHR 3 T & | [ a\2]  a%y
(a) X1+(——-) I}
dx dx
83. x%ﬁmmmwaﬁlﬁr@m? " gx(d_Y]fﬁX=1+(iZ]2
@ 1% dx ) gx2 dx,)
(b) 1'533 [y) y
(¢) 239 dx ) dx2
(d) 2'5'5'3 ( ]
84. A T AR aTaeH e g 2
® 200578 AT} 3 et 17 (03) eIl % g
(b) 400%H ¥4
100 9 ¥4 W?ﬂﬁﬁﬁx)zax2+bx+c3'€m%ﬁ
© 1) = fi-1) 3K a, b, c TATAR AF H F
(@ 9w A
88. bF WA MR ?
srerret wesen [ 48 " dzyzﬁﬁﬁ (@ -1
85. e B b o o
TﬂT%? e 1
(@ 1 @ e el ¥ wror fuifa € R
() 2 S g
© 3 89. f(a), f'th), fiic) e AR H 2
@ .4 (a) AP
. b G.P.
g8, Tl ln(j—i}+x=0 I EA TR ? © HP.
) .- @ TR A
( =
: y+e_x ) 90. f(a), f*(b), f"(c) Thm FH A & 2
® y-er=¢ (a) ¥ AP.H
© yreT=c ® Fa@Gp.
@ y-e'=e © AP 3 GP. dfi#
el ¢ T WD I R | @ TaApdakadcp#
B-OEBB-N-NBS (25-A)
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- -
91. If |a|=2|bl=b5and|a x b|=8, then | **
- =
whatis a . b equalto?
(a) 6
oy 7
() 8
d 9
- o
92, If |: + b= l? - b |, then which one of
the following is correct ?
- -+
(a) |a]=|b|. 1 95.
- -
(b) a isparallelto b.
- -
(¢) a isperpendicularto b.
d) ? is a unit vector.
93. What is the area of the triangle OAB where O
—> A
is the origin, OA =31 ~ } + k and
—) A A A '
OB =2i +j -3k ? '
96.
(a) 56 square unit
(h) 5—26— square unit
© 6 square unit
(d /30 square unit
'B-OEBB-N-NBS (26-A)

Which one of the following is the unit vector

- A A A
perpendicular toboth a =— i + j + k and

- A A A
b=i-j+k?
A A
(a) l+_]
V2
®» k
P+ k
y 1%
(c 72
A
o L-J
@ 7

What is the interior acute angle of the
parallelogram whose sides are represented

by the vectors —1—:+—1-—3\+?s and
N RN

‘—/—15- : - % 3\ + ’l\: ?

(a) 60°

(b) 45°

(¢} 30°

(d)

15°

. For what value of A are the vectors

A A A
AMi+(Q+Dj+A+20)k and
1-ni +A; +2k perpendicular ?

(@ -1/3
(b), 1/3
(0 2/3
d 1
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91. IR |a |=2, |b|—saﬂt|axb|_s§ a’r
2. b frus e
(a) 6
by 7
¢ 8
@ 9

92. X |3 + D=2 - b |2 Frefafea
| BT CE T R 2
@ [a]=Ibl
® =,b HEww
© a,b WEAE)

93.

— A A A %6.
OB =2i +j -3k B?
(@ 546 a1t gfe
() -@aﬁqﬁz
@ 6 T gwe
@ 30 T R
B-OEBB-N-NBS (27-A)

59 0AB %1 &% fha &, & 0 o

A

—> A .
2, OA=3i-j+k am

94.

95.

ﬁmﬁ%ﬁﬁ%aﬁqm@,ﬁmaﬁﬂ%

\_r|3la=—1 J+k3ﬂt 3\+!]\;
A T R ?
i+3t
(a) ")
A
b)) k
i+k
]+
{c) )
A b
i-j
(d) 7
~ 1A 1 A a
—i+——j+k I
wfew A AN
L 1LYk gu Pefa el a@
2 27
T g BT 2 = B TS ?
(a) GQ°
(b) 45°
(e 30°
@ 15°
A % fopm am & fory wfew

l’i\+(1+k)_'i\+(1+2)u)?; 3R

A A A .
(1-M)i +Aj +2k TERTH§?

(@) -1/3
b) 1/3
) 2/3
@ 1
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For the next four (04) items that follow :

o

- -
+b +c

-
Cc

l

| =7.

97. What is the angle between ? and

(@) n/6
(b) mfd
() nf3
dy =2
98. What is —:g + _}.;_E,
to ?
(a) -83
by -83/2
(e 75
(dy -175/2

—>

b ?

- Y 4
= 0 suchthat|a [=3,|b }|=5and

_)
99. What is cosine of the angle between b and

e 7

(ay 11/12
(b) 13/14
© -11/12
d -13/14

>
Whatis|a +b |equal to?

100,
- (a) 7
(b} 8
(c) 10
d 11
B-OEBB-N-NBS

n/2

dx
101. What is equal to ?
I a? cosZx +b? sin?x
0
(a) 2ab
(b) 2nab
T
(C) ﬁ
7
d L
(d) ab

For the next two (02) items that follow :

A cylinder is inscribed in a sphere of radius r.

102. What is the height of the cylinder
maximum volume ?

2r
(@) ==
¥ B
by =

J3
(¢} 2r
d J3r

103. What is the radius of the cylinder
maximum volume ?
2r
(a) —
J3
®) J2r
J3
(¢c) r
d V3r
(28-A)
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3T 317 T TR (04) TN & fore n/2
dx
- ) forgess s B 2
b +C =0 MIRER|D =3, |b|=5] " Iazmszx+bzsm2x §
(T =7 0
(a) 2ab
(b) 2mab
97. Zal D FEAF RN ALY
T
(@ /6 © 53
®) 4 @ =
ab
© nf3 4
@ nf2
' ST 3 ATt g (02) FEIT & for:
98. 2.b + b.©o + c.o FeEhTUML? | Beu o viicwn § S SR TR |
(a) -83
(b) -83/2 .
102, iTehan AR A& FoH il SAE TR 2
(¢ 175 -
c @ =
@ -75/2 3
3 ®) %
99. b 3 ¢ F e F A H AR
) 2r
@ 1112 @ J3r
() 13/14
© -11/12
108. 31T IR I Se I B T g 7
@ -13/14 ‘
@ =
J3
100. |2 + b | Fred qmee & 2 o
@ 7 NE)
®b) 8 © r
. (C) 10 (d) ng'_
@ 11
B-OEBB-N-NBS (29-A)
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For the next two (02) items that follow : 106. Suppose A and B are two events. Event B has
occurred and it is known that P(B) < 1. What
Consider the function f”(x) = sec® x + 4 with flo)y=0 is P(A | B%) equal to ? .
and £'(0) = 0.
. (@) P(A) - P(B)
1-P®B)
b P(A) - P(AB)
104. What is f'(x) equal to ? ( 1-P(B)
3 P(A) + P(B®)
(d) tanx- tan” x + 4x (©) 1-P@B)
=
(d) None of the above
3
(b) tanx+ tal; X r4x
For the next four (04) items that follow :
sec’ x
(¢} tanx+ +4x :
Consider events A, B, C, D, E of the sample space
S = {n : n is an integer such that 10 < n < 20} given
tan® x by : '
d —tanx- 3 * 4x A is the set of all even numbers.
B is the set of all prime numbers.
C ={15).
105. What is f(x) equal to ? Dis the set of all integers < 16,
E is the set of all double digit numbers
2Insecx  tan®x " expressible as a power of 2.
(a) 3 + 5 + 2x2

107. A,Band D are

' 2
(b) 3insecx . cot“ x + 9x2

2 6 (a) Mutually exclusive events but not
. : exhaustive events
4lnsecx sec’x _ (b} Exhaustive events but not mutually
(© + + 2x
3 6 exclusive events
() Mutually exclusive and exhaustive
ntx 2 events
(d Insecx+ 12 + 2x
{d) Elementary events
B-OEBB-N-NBS , (30-A)
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3T 3 T §(02) FIIT & forg:

B f(x) = sec’ X+ 4 9 ﬁf&ﬁifﬁt{ﬁm—{) 3

£(0) =0 2, fa=aw Shifse |

104, f(x) foPEs T 3 7

(a) tanx—talgax + 4x
(b) tanx+ ta];’ax +4x
(¢c) tanx+ Be{;’ax +4x
@ —tanx- 2D, 4y

105. fix) e TR ?

2
(@) 2ln;ecx N tax; X og2
3Insecx oot?x
(b} 2 o 2x?
2
© 4ln3taecx . ssec:5 X . ox?
tan? x 2
(d) Insecx+ 13 2x

B-OEBB-N-NBS

(31-A)

106.

107.

7 efifr f6 A 3K B3t 9 & | WA B
wah M mETa e PBI<1 B
P(A | B®) foreeh st £ 7

@ PA-PE
1-P(B)
- P(A) - P(AB)

®) 1- P(B)

© P(A) + P(B®)
1- P(B)

@ I 3 A w5 TH

T 3T AT TR(04) TN & form:

el R S={n:n T TIi% W TR & &
10 < n < 20) 3 HEA=H A, B, C, D, E W f=m #ifdw,
el :

Awdt g TEARl 1 S 2§ |
B ayft anuTe Feural 1 wg=A R |

C ={15}. |
D, <169 avfi quist =1 ag= R |

B o fsiw e e = wge 3
el 2 F U w9 1 oFw R ST g
i

A B3R D

(a) W et wed § feg Fedw v
T &

® Fredw geard ¥ feg T sttt e
T4 &

(¢) T A9aT ot ey wed &
(d) RS T §
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- 108.

109.

110.

B-OEBB-N-NBS

A, Band C are

{a) Mutually exclusive events but not

exhaustive events

(b) Exhaustive events but not mutually

exclusive events

(¢) Mutually exclusive and exhaustive

events

(d)

Elementary events

Band C are

(a)} Mutually exclusive events but not

exhaustive events

(b) Compound events

(¢} Mutually

events

exclusive and exhaustive

{(d) Elementary events

C and E are

(a) Mutually exclusive events but not

elementary events

(b) Exhaustive events but not mutually

exclusive events

(¢} Mutually exclusive and exhaustive

events

(d} Elementary and mutually exclusive

events

(32-

111,

112,

113.

114.

A)

Consider the following statements in respect
of histogram :

1. The histogram is a suitable
representation of a frequency
distribution of a continuous variable.

2. The area included under the whole
histogram is the total frequency.

Which of the above statements is/are correct ?

(a) 1lonly

(b} Z2only

(¢) Bothland?2
(d) Neither 1 nor 2

The regression lines will be perpendicular to
each other if the coefficient of correlation r is
equal to

(a) 1lonly
(b} lor-1
(¢) -—1lonly
d o

For any two events A and B, which one of the
following holds ?

(a} P(ANB)<P(A)<P(AUB)<PA)+ P(B)
(b} P(A U B)<P(A)<P(A N B)<P(A) + P(B)
{c) P(AUB)<P(B)<P(ANB)<PA)+PB)
(d) PANB)<PB)<PA)+PB)sPAUB)

The probability that in a random
arrangement of the letters of the word
UNIVERSITY', the two I's do not come
together is

(a) 4/
b) 1f5
¢) 1/10
@ 9/10
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108.

109.

110.

B-OEBB-N-NBS

A,BIR C

(@ R wadt v § fg fed g

(b) Fredy wzad ¥ foreg TEm sToaelt wemd
& g

(¢) YTER uast 3t iy ged §

@ R e §

B3l C

(a) eI Igast weAnd § fpeg faedy wemd
EER

(b) firer weAd €
() TER gas it ey g g

@ wriftes geand &

C3RE

(a) wER ual wead § g i wed
T 2

() P weard & forg oo siEsll ged
T &

(¢) TR el 3R Avsy gead &

(d) TR 3 WER I9as| gead §

(33 -

111.

112.

113.

114.

A)

AR % =g ¥ Fefafgs $9R ®
ﬁﬁﬂiﬁﬁlﬁ:

1. oa-RE oF g9qd = % JRERa-ae F

I e R
2. Ul A ¥ ofafa oW amm
ErFel wogul SR B @ |

394 FuAl # B I w8 A 2
Fa9 1

Had 2

1 3i 2 2t

Td 13 ad 2

(a}
(b)
(c)
(d)

T e whew W owd @t af
HEEEG 0T 1

(a) Fad 1% SO A

(b) 191 - 1% TR &

(c) Fae — 1% ST &

d) 0% ITR A

51 § wemaft A 3R B & fou, Praforfea &
¥ A1 T AV 2l & ?

(a) P(A N B)<P(A) < PA U B)<PA) + P(B)
(b) P(A U B)<P(A)<P(A N B) < P(A) + P(B)
(¢) P(A U B)<P(B)<PA N B)<P(A) + P(B)
(d) P(AN B)<P(B)<PA)+PB)<PAUB)

‘UNIVERSITY’ ¥s% & g & et aigfeioes
frmmg § @ T % gy 73R f wRee
o

(a) 4/5

b 15

¢ 1/10

d 9/10
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115. There are 4 white and 3 black balls in a box. | 118. The variance of 20 observations is 5. If each
In another box, there are 3 white and 4 black observation is multiplied by 2, then what is
balls. An unbiased dice is rolled. If it shows a the new 'variance of the resulting
number less than or equal to 3, then a ball is observations ?
drawn from the second box, otherwise from (a) 5
the first box. If the ball drawn is black, then | (b) 10
the probability that the ball was drawn from () 20
the first box is d 40
(a) 1/2
b 6/7 .
© 47 119. Two students X and Y appeared in an
@ 37 examination. The probability that X will

qualify the examination is 0-05 and Y will
qualify the examination is 0-10. The

116. If X and ¥ are the means of two distributions . probability that both will qualify the
such that ¥ < 7 and % is the mean of the | examination is 0-02. What is the probability
combined distribution, then which one of the - that only one of them will qualify the
following statements is correct ? examination ?

(a) X<y<z (@ 015
b X>7>z ®) 014
(e} 012
© z= i;? @ o011
@ X<Z<«§
120. A fair coin is tossed four times. What is the

117. What is the mean deviation about the mean probability that at most three tails oceur ?
for the data 4, 7, 8, 9, 10, 12, 13, 17 ? (@ 7/8
(@) 25 ®) 15/16
® 3 (e} 13/16
(¢ 35
@ 4 @ 3/4

B-OEBB-N-NBS (34-A)
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115. Th 3 F 4 T 3R 3 weh 7 F | @ ¥

116.

117.

B-OEBB-N-NBS

V (a)

#, 3 g¥%e it 4 Freht 8 € | v emfET T
e oI § | AR 9% 3 71 3 A FW i v
foaman 2, @ gl ¥4 ¥ 1 g Pl S 2,
= ygelt 98 ¥ feprelt ot 2 | ol Feech
¥ ¥ Tl §, @ weh miysa w0 @ 6 R
greh 3¢ § el T 2

1/2
6/7
47

3/7

(b)
(c)

(d)

AR x 3R 7 D d F er @ R T
X<y 3R 7 gw WA W We B, @l

e s T A sha s ad@ § 7.
(@) T<y<i
b XI>¥>E
- _X+¥
) zZ= 2
d X<z<¥

4,7, 8,9, 10, 12, 13, 17 Ji®he! & Arsg F
e T e ?

(a)
b 3

25

¢ 345

d 4

(35—A)

118.

119.

120,

20 ol T FEW 5 B | AR B YW 2 ©
it e STen B, @ whoml Saei w0 @
TEROT T B0 2

(a)-5

(b)
(e}
(d)

10
20

40

X3t Y3 foenfifmt 2 o wfien ¢\ X gm@
qtan § ot WH F@ H wResar 005 3 3R
Y g0 wlfien € oar W & iR
0-10 2 | 3 % g whten A ordar ww w=
iR 0-02 8 | SEeh Wiiekar w0 ;@ % I
U harer GF E q0W ¥ AEAT W BT 2

@) 015

by 014
¢ 012

d@ o1

T rg fE 9 9R ISl 9 R |
Il i sx w @A) 3| f
witma F 2 7

(a)
(b)
(c

7/8
15/16
13/16

(d 34
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AT 7% HATTH TZ GO0 Gt @ierd &1 7 FET 10 77 7% 7 @

#. #t. . : B-OEBB-N-NBS whiewr gfer g

Tdieror gierent
o

T ; 3 Ovd Ik dfig e _ guifa : 300

ey |
3T § | 3f

e

Then I 31 & O W1g, A9 39 wderor gfert ) ugare sava =R o f e W R w,
LT AT LT gT YES JreraT wwAne, rfe 1 7 | afl e 2, @ 3@ v wheror it @ age ofifdm |
Ermr@%omm-mﬁ,ﬁﬂmm,ﬂﬁwaﬁwﬁmgﬁm?(vﬂﬂw
)A,B,Cmnﬁ,mﬁqéﬁm%sﬂgmﬁﬁﬂﬁ%ﬂﬁaﬁw W o fomedh
SefigarR g | faeht oft wem 1 g /Rl B fRufa # sw-aaes v e e o |

T8 vlem gien W w § iy M e # st o
AT Torer B 1 whew yfemm w s gor T R _
8wl gfe & 120 swiw () fow o E | vk i R ol ool O A ww |
mm%ﬁ)ﬁqmﬁIﬁﬁ%@maﬁ@ﬁ,ﬁﬁaﬂmmﬁ:maﬁmm
R TE & T T A il e o €, A 36 wege W oifka ) v watow
T | YAF TN F [ Baemowm A TR G |

3G T Tt TR M § R ¢ sww w g aifen w0 ¥ | Iaews § Ry e e 2R |
TN} A % 3 GEA £ |

T e T o9 g gfeem 3 fafim seiel 3 vegee SoowEs iR S 3E W, o vay
WAL ¥ T1Y ¥ e & SIUR 56 Rew ems § 2 § |
mmmﬁﬁﬁmﬂaﬁﬁﬁﬁ%mwwﬁm%wmmm—mmaﬁ
|9 | AR 1 g e g @ S 6 A R |

w= HW * fore wwe vlewr gt ¥ ofq § so €

Ted Iadt & ferg gus .

aE wa-ust # sefigan gro R e e s & forg quz R wmom |

() ¥R T F R 9 IR W § | Iefitar gr v@% vE & R R g o e 3o F fre v
g P i e siat o o (0.33) Tos % w9 T o |

(i) 7R Hi I=fican o ¥ i IW W R, N A o I T wwm, TER RE T 39T § A ™ TN
wdl B &, 6 oft 39 v % forg sedomam € 3t we = 2ve famn s .

(i) AR Ifigam g FE W v T e st 8, srafq Iefiear R e Ad R e 2, @ sw ww R
ferq w§ que Tl R wmam |

ST 7F STAHT TE TH0T GGt T &Y T FET I AT 7 T SeF

Note : English version of the instructions is printed on the front cover of this Booklet.
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